
		

SET  –  A

 Subject Code : 10223/CST – HBE/RCE – EE 

 narjm Ho$ÝÐmÜ`j H$s _moha			   narjmWu Ûmam ~m°b-ßdmBÊQ> noZ go ^am OmE & 		     CÎma erQ> H$m H«$_m§H$
 Seal of Superintendent of Examination Centre	 To be filled in by Candidate by Ball-Point pen only.		  Sl. No. of Answer-Sheet

					     AZwH«$_m§H$ 
					     Roll No.

							       KmofUm : _¢Zo ZrMo {X`o J`o {ZX}e AÀN>r Vah n‹T>H$a g_P {bE h¢Ÿ&
							       Declaration :  I have read and understood the instructions given below.

 drjH$ Ho$ hñVmja				    Aä`Wu Ho$ hñVmja			 
 (Signature of Invigilator) ................................	 (Signature of Candidate) ............................................................	

 drjH$ Ho$ Zm_				    Aä`Wu H$m Zm_				  
 (Name of Invigilator) .....................................	 (Name of Candidate) ..................................................................	

 àíZ nwpñVH$m _| n¥îR>m| H$s g§»`m :
 Number of Pages in this Question Booklet  : 8

 àíZ nwpñVH$m _| àíZm| H$s g§»`m :
 Number of Questions in this Question  Booklet :

nyUmªH$ - 50

g_` - 50 {_ZQ>

50
Aä`{W©`m| Ho$ {bE {ZX}e

	1.	 àíZ-nwpñVH$m {_bVo hr _wI n¥îR> Ed§ A§{V_ n¥îR> _| {XE JE {ZX}em| H$mo 
AÀN>r Vah n‹T> b| Ÿ& àíZ nwpñVH$m _| bJr grb H$mo drjH$ Ho$ H$hZo go nyd© 
Z Imob| Ÿ&

	2.	 D$na {XE hþE {ZYm©[aV ñWmZm| _| AnZm AZwH«$_m§H$, CÎma-nwpñVH$m H$m H«$_m§H$ 
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instructionS To candidates

	 1.	 Immediately after getting the booklet read instructions carefully, 
mentioned on the front and back page of the question booklet and 
do not open the seal given on the question booklet, unless asked 
by the invigilator.

	 2.	 Write your Roll No., Answer-Sheet No., in the specified places 
given above and put your signature.

	 3.	 Make all entries in the OMR Answer-Sheet as per the given 
instructions otherwise Answer-Sheet will not be evaluated.

	 4.	 After Opening the seal, ensure that the Question booklet 
contains total no. of pages as mentioned above and printing 
of all the 50 questions is proper. If any discrepancy is found, 
inform the invigilator within 15 minutes and get the correct 
booklet.

	 5.	 While answering the question from the Question Booklet, for each 
question choose the correct/most appropriate option out of four 
options given, as answer and darken the circle provided against 
that option in the OMR Answer-Sheet, bearing the same serial 
number of the question. Darken the circle only with Black or Blue 
ball point pen.

	 6.	 Darken the circle of correct answer properly, otherwise answers 
will not be evaluated. The candidate will be fully responsible for it.

	 7.	 There are 50 objective type questions in this Question Booklet.  
1 mark is allotted for each correct answer and 1/4 mark will be 
deducted for each wrong Answer.

	 8.	 Do not write anything anywhere in the Question Booklet and 
the Answer-Sheet except making entries in the specified places 
otherwise OMR sheet will not be evaluated.

	 9.	 After completion of the examination, only OMR Answer Sheet 
and cover page of question booklet is to be handed over to the 
invigilator. Carbon copy of the Answer-Sheet and Question Booklet 
may be taken away by the examinee.
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	 1.	 By whom was the system of shorthand 
invented ?

	 (A)	 Gregg
	 (B)	 John Byron
	 (C)	 Thomas Shelton
	 (D)	 None of the above

	 2.	 What should be the length of strokes ?
	 (A)	 1/2″	 (B)	 1/6″
	 (C)	 1/5″	 (D)	 1/4″

	 3.	 Where there is a vowel sound, to 
provide a place for the vowel sign, 
there must be a

	 (A)	 Stroke consonant
	 (B)	 Phrase
	 (C)	 S-S circle
	 (D)	 None of these

	 4.	 Halving a stroke indicates the addition 
of ______ or ______ .

	 (A)	 T, D	 (B)	 MP, MB
	 (C)	 R, D	 (D)	 L, R

	 5.	 Suffix-“Logical” is represented by
	 (A)	 Joined Jay
	 (B)	 Disjoined Jay
	 (C)	 Both (A) and (B)
	 (D)	 None of the above

	 6.	 Abbreviated ‘W’ is used before
	 (A)	 AR	 (B)	 Kay
	 (C)	 Imp/Imb	 (D)	 All of the above

	 7.	 What is the pronunciation of 
stenography ?

	 (A)	 Stenographic
	 (B)	 Stenographer
	 (C)	 Stenography
	 (D)	 Steganography

	 8.	 The consonants are composed of
	 (A)	 Vowels
	 (B)	 Straight lines and curves
	 (C)	 Hooks
	 (D)	 Diphthongs

	 9.	 “ST” loop is represented by
	 (A)	 Outside the curves
	 (B)	 Right motion to straight strokes
	 (C)	 Finally when followed by a vowel
	 (D)	 Inside the curves

	 10.	 All double length downstrokes are 
written

	 (A)	 On the line
	 (B)	 Above the line
	 (C)	 Through the line
	 (D)	 Below the line

	 11.	 Which of the following is true for 
intersection ?

	 (A)	 It is never vocalised
	 (B)	 It can used circles to form plurals
	 (C)	 If the intersection stroke comes 

before, it is written through or 
adjacent to the first stroke of the 
main outline

	 (D)	 All of the above

	 12.	 Which of the following is represented 
by halved way or ray omitted the R ?

	 (A)	 - Yard
	 (B)	 - Logically
	 (C)	 - Ship
	 (D)	 All of the above

	 13.	 After an up straight stroke r, is 
written

	 (A)	 Upward	 (B)	 Downward
	 (C)	 Horizontal	 (D)	 Perpendicular

Stenography (English)
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	 14.	 The alternative form for representation 
of consonant “S” and “Z” is

	 (A)	 By a small circle
	 (B)	 By a big circle
	 (C)	 By a loop
	 (D)	 By a hook

	 15.	 Inter-departmental means
	 (A)	 Between more than one 

department
	 (B)	 Within a particular department
	 (C)	 Includes whole company
	 (D)	 None of the above

	 16.	 The beginning of shorthand is 
considered in

	 (A)	 Greece	 (B)	 Egypt
	 (C)	 India	 (D)	 Italy	

	 17.	 Initial con/com is represented by
	 (A)	 A dot written at the right of the 

stroke
	 (B)	 A dot written at the left of the 

stroke
	 (C)	 A dot written at the head of the 

stroke
	 (D)	 All of the above

	 18.	 Which of the following is true for the 
“self”  prefix ?

	 (A)	 It is represented by a circle in 2nd 

place against the stroke
	 (B)	 It is never omitted
	 (C)	 The strokes of the outline are 

written after the circle
	 (D)	 All of the above

	 19.	 In which kind of organizational 
structure problems are solved 
through collaboration ?

	 (A)	 Tall
	 (B)	 Flat
	 (C)	 Vertical
	 (D)	 None of the above

	 20.	 Which of the following is an essential 
attribute for a good stenographer ?

	 (A)	 Attention to detail
	 (B)	 Good listening skills
	 (C)	 Respect for rules
	 (D)	 All of the above

	 21.	 By what signs diphthongs are 
represented ?

	 (A)	 Dot	 (B)	 Dash
	 (C)	 Angular	 (D)	 None of these

	 22.	 Diphthongs are written in _______ 
place.

	 (A)	 Ist and IInd

	 (B)	 IInd and IIIrd

	 (C)	 Ist and IIIrd

	 (D)	 None of the above

	 23.	 Large hook to ‘Kay’ or ‘Gay’ represents 
addition of ‘w’, thus 

	 (A)	 ‘kL’, ‘gL’
	 (B)	 ‘kw’, ‘gw’
	 (C)	 ‘kr’, ‘gr’
	 (D)	 None of the above

	 24.	 Initially a large hook inside ‘L’ stroke 
represents

	 (A)	 w
	 (B)	 kwa
	 (C)	 wh
	 (D)	 None of the above
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	 25.	 Which of the following shorthand 
systems are phonetic ?

	 (A)	 Clement Pitman shorthand
	 (B)	 Gregg shorthand
	 (C)	 Both (A) and (B)
	 (D)	 None of the above

	 26.	 While writing in shorthand which of 
the following is important ?

	 (A)	 Speed
	 (B)	 Understandability
	 (C)	 Accuracy
	 (D)	 All of the above

	 27.	 A frequently occurring word represented 
by a stroke is called

	 (A)	 Logogram	 (B)	 Grammalogue
	 (C)	 Contraction	 (D)	 Aspirate

	 28.	 The stroke H is written ________ when 
preceded and followed by horizontal 
strokes.

	 (A)	 Downward	 (B)	 Upward
	 (C)	 Horizontal	 (D)	 Perpendicular

	 29.	 In which of the following cases small 
final hook cannot be used ?

	 (A)	 When N is the only stroke
	 (B)	 When a final vowel follows the 

Nf or V sound
	 (C)	 When the N sound is preceded by 

a circle or loop
	 (D)	 All of the above

	 30.	 Medially ‘N’ is represented by
	 (A)	 Hook 
	 (B)	 Stroke
	 (C)	 Both (A) and (B)
	 (D)	 None of the above

	 31.	 A thick stroke is never written
	 (A)	 Upward
	 (B)	 Downward
	 (C)	 Horizontal
	 (D)	 Through upward

	 32.	 B is written with a _______ stroke.
	 (A)	 Heavy
	 (B)	 Light
	 (C)	 Horizontal
	 (D)	 Through horizontal

	 33.	 The __________ in the word determines 
the position of the outlines.

	 (A)	 First sounded vowel
	 (B)	 Second sounded vowel
	 (C)	 Third sounded vowel
	 (D)	 Final sounded vowel

	 34.	 Two short lines underneath an outline 
indicate

	 (A)	 Initial capital
	 (B)	 Final capital
	 (C)	 Medial capital
	 (D)	 Initial and medial capital

	 35.	 Final vowel sound after ‘N’, then ‘N’ 
is represented by

	 (A)	 Hook
	 (B)	 Stroke
	 (C)	 Hook and Stroke
	 (D)	 None of the above

	 36.	 Alternative forms are used
	 (A)	 To obtain a better join
	 (B)	 To indicate absence of initial 

vowel
	 (C)	 Both (A) and (B)
	 (D)	 None of the above

	 37.	 Continuants are called so, because
	 (A)	 While pronouncing them outgoing 

breath is forced through barriers 
already closed

	 (B)	 While pronouncing them the 
outgoing breath goes into a 
continuous stream

	 (C)	 The outgoing breath goes out 
through nose

	 (D)	 None of the above
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	 38.	 Outlines used to represent 
grammalogue are called

	 (A)	 Logograms
	 (B)	 Phrases
	 (C)	 Contraction
	 (D)	 Advanced phrases

	 39.	 How many long and short vowels are 
in phonography ?

	 (A)	 14	 (B)	 18
	 (C)	 16	 (D)	 12

	 40.	 An open sound as distinguished from 
a consonant is called a

	 (A)	 Consonant	 (B)	 Grammalogue
	 (C)	 Vowel	 (D)	 Phrase

	 41.	 Initially a large hook to curved strokes 
adds the sound of

	 (A)	 L	 (B)	 R
	 (C)	 Shun	 (D)	 N

	 42.	 Finally a small hook to curved stroke 
represents the sound of

	 (A)	 F	  (B)	 V 
	 (C)	 N	 (D)	 Shun

	 43.	 Which of the following are written with 
horizontal strokes ?

	 (A)	 G	 (B)	 K
	 (C)	 M	 (D)	 All of the above

	 44.	 T and D are written with ____ angle.
	 (A)	 120°	 (B)	 90°
	 (C)	 60°	 (D)	 30°

	 45.	 Pitman shorthand is based on the 
phonetic structure of

	 (A)	 Sanskrit	 (B)	 Hindi
	 (C)	 English	 (D)	 Others

	 46.	 In shorthand vowels are shown
	 (A)	 By Dot
	 (B)	 By Dash
	 (C)	 By Dot and Dash
	 (D)	 None of these

	 47.	 Why ‘sher’ and ‘shel’ could never be 
mistaken for each other ?

	 (A)	 Because ‘sher’ and ‘shel’ could 
never used upward

	 (B)	 Because ‘sher’ is always written 
downwards and ‘shel’ is always 
written upwards

	 (C)	 Because ‘sher’ is not a valid sound
	 (D)	 Because ‘shel’ is not a valid sound

	 48.	 To all straight strokes at the beginning 
‘R’ hook is written

	 (A)	 By a clockwise hook written at the 
beginning of the stroke

	 (B)	 By a anti-clockwise hook written 
at the beginning of the stroke

	 (C)	 By both clockwise and anti-
clockwise hook written at the 
beginning of the stroke 

	 (D)	 None of the above

	 49.	 Which of the following is true for medial 
semicircle ?

	 (A)	 It is only used with Hooked strokes
	 (B)	 It could be used initially or finally 

in an outline
	 (C)	 It is always written with twin stroke, 

regardless of whether it replaces 
a thick or thin vowel sign

	 (D)	 All of the above

	 50.	 Commonly occurring words that are 
represented in single outline are

	 (A)	 Grammalogue	(B)	 Logograms
	 (C)	 Dipthongs	 (D)	 Contractions
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    SET –  A 

CÎma A§{H$V H$aZo H$m g_` :          50 {_ZQ>	 A{YH$V_ A§H$ : 50

Time for making answers : 50 Minute	 Maximum Marks : 50

ZmoQ> :

1.	 ñQ>oZmoJ«m\$s (A§J«oOr) - 50 A§H$

	 àË`oH$ àíZ 1 A§H$ H$m h¡ & Hw$b 50 àíZ H$aZo A{Zdm ©̀ h¡ &

2.	 àíZm| Ho$ CÎma Xr JB© OMR CÎma-erQ> (Am§gaerQ>) na A§{H$V H$s{OE Ÿ&

3.	 JbV CÎma A§{H$V H$aZo na 1/4 A§H$ H$mQ>o Om`|Jo &

4.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&

5.	 OMR CÎma-erQ> (Am§gaerQ>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o `m 
Cg_| _mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&

Note :

1.	 Stenography (English) – 50 Marks

	 Each question carries 1 mark. All 50 questions are compulsory.

2.	 Indicate your answers on the OMR Answer-Sheet provided.

3.	 1/4 mark will be deducted for each wrong Answer.

4.	 Use of any type of calculator or log table and mobile phone is prohibited.

5.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does 
not get torn or spoiled due to folds and wrinkles.


